Exercise 3  Exclusive-Or Operations as a Substitution Cipher 

Consider all possible 8-bit bytes as the plaintext characters.   Consider also a key of  N bytes.  Then a bit by bit exclusive-or operation between a plaintext byte and a key byte will produce another 8-bit (ciphertext) byte.  

Now consider the 11 character plaintext string, Hello World,  and key string, MyKey.  Apply the exclusive-or substitution cipher described above, to produce ASCII characters.

Use the following table to guide you in your encryption:
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